Pomocné stavové proměnné:		Stavové akce:

odkud 		integer			(1) odkud = vstup
kam		integer			(2) kam = vstup
sleva-skup.	float			(3) koeficient = početOsob * 0,85
					     cena =  cenik[odkud, kam] * koeficient	
sleva-IN25	float			(4) cena = cenik[odkud, kam] * 0,75
sleva -IN50	float			(5) cena = cenik[odkud, kam] * 0,5
sleva-INsenior	float			(6) cena = cenik[odkud, kam] * 0,8
sleva-žádná	float			(7) cena = cenik[odkud, kam] 
zpatecni-Ano	float			(8) cena = cena*koeficient*0,7
zpatecni-Ne	float			(9) cena = cena*koeficient
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